Algebra I 30 Question Common Assessment November 6th
Multiple Choice
Identify the choice that best completes the statement or answers the question.
The rate of change is constant in each table. Find the rate of change. Explain what the rate of change means for the situation.
____
1.
The table shows the cost of a ski rental package for a given number of people.

	People
	Cost ($)

	4
	160

	5
	200

	6
	240

	7
	280


	a.
	[image: image1.png]


 dollars per person; the cost is $1 for 280 people.

	b.
	[image: image2.png]160



 dollars per person; the cost is $160 for each person.

	c.
	[image: image3.png]40



 dollars per room; the cost is $40 for each person.

	d.
	[image: image4.png]40



 dollars per person; the cost is $40 for each person.


____
2.
The table shows the number of miles driven over time.

	Time (hours)
	Distance (miles)

	4
	204

	6
	306

	8
	408

	10
	510


	a.
	[image: image5.png]


; Your car travels 51 miles every 1 hour.

	b.
	204; Your car travels 204 miles.

	c.
	[image: image6.png]51



; Your car travels 51 miles every 1 hour.

	d.
	10; Your car travels for 10 hours.


Find the slope of the line.
____
3.
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	a.
	[image: image8.emf]1

2


	b.
	 [image: image9.emf]
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	c.
	 [image: image10.emf]2


	d.
	[image: image11.emf]2




____
4.
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	a.
	[image: image13.emf]3

4


	b.
	 [image: image14.emf]
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	c.
	 – [image: image15.emf]3

4


	d.
	 [image: image16.emf]4

3




What is the slope of the line that passes through the pair of points?
____
5.
(1, 7), (10, 1)

	a.
	[image: image17.emf]3

2


	b.
	[image: image18.emf]

2
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	c.
	[image: image19.emf]

3
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	d.
	[image: image20.emf]2

3




____
6.
(–5.5, 6.1), (–2.5, 3.1)

	a.
	–1
	b.
	[image: image21.emf]1


	c.
	–1
	d.
	1


What is the slope of the line?
____
7.
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	a.
	undefined
	b.
	0


____
8.
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	a.
	0
	b.
	undefined


What are the slope and y-intercept of the graph of the given equation?
____
9.
 y = –4x + 2

	a.
	The slope is –2 and the y-intercept is –4.

	b.
	The slope is 2 and the y-intercept is –4.

	c.
	The slope is 4 and the y-intercept is –2.

	d.
	The slope is –4 and the y-intercept is 2.


____
10.
 y = [image: image24.emf]8

9

x [image: image25.emf]
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	a.
	The slope is [image: image26.emf]10

3

 and the y-intercept is [image: image27.emf]8

9

.

	b.
	The slope is [image: image28.emf]

10

3

 and the y-intercept is [image: image29.emf]8

9

.

	c.
	The slope is [image: image30.emf]8

9

 and the y-intercept is [image: image31.emf]

10

3

.

	d.
	The slope is [image: image32.emf]9

8

 and the y-intercept is [image: image33.emf]10

3

.


Write an equation of a line with the given slope and y-intercept.
____
11.
m = –5, b = –3

	a.
	y = –5x – 3
	c.
	y = 5x – 3

	b.
	y = –5x + 3
	d.
	y = –3x – 5


____
12.
m = [image: image34.emf]3

5

, b = [image: image35.emf]1

3


	a.
	y = [image: image36.emf]1

3

x + [image: image37.emf]3

5


	c.
	y = [image: image38.emf]5
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x + [image: image39.emf]1
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	b.
	y = [image: image40.emf]3

5

x – [image: image41.emf]1

3


	d.
	y = [image: image42.emf]3
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x + [image: image43.emf]1
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Write the slope-intercept form of the equation for the line.
____
13.
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	a.
	y = [image: image45.emf]

5

8

x [image: image46.emf]

1

2


	c.
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	b.
	y = [image: image49.emf]8
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x [image: image50.emf]
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	d.
	y = [image: image51.emf]8
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____
14.
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	a.
	y = [image: image54.emf]
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x [image: image55.emf]
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	c.
	y = [image: image56.emf]7

8

x + [image: image57.emf]5

8



	b.
	y = [image: image58.emf]5
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x [image: image59.emf]
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	d.
	y = [image: image60.emf]
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____
15.
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	a.
	y = 1.4x – 0.6
	c.
	y = –1.4x + 0.6

	b.
	y = –1.4x – 0.6
	d.
	y = 1.4x + 0.6


What equation in slope intercept form represents the line that passes through the two points?
____
16.
(2, 5), (9, 2)

	a.
	y = [image: image63.emf]3
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x [image: image64.emf]
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	c.
	y = [image: image65.emf]7
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x [image: image66.emf]
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	b.
	y = [image: image67.emf]
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	d.
	y = [image: image69.emf]
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Graph the equation.
____
17.
y = 4x – 3

	a.
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	c.
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	b.
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	d.
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____
18.
y = –2x – 3

	a.
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	c.
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	b.
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	d.
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____
19.
Giselle pays $240 in advance on her account at the athletic club. Each time she uses the club, $15 is deducted from the account. Model the situation with a linear function and a graph.

	a.
	[image: image79.emf]Athletic Club Account

Number of Visits

Balance ($)

1 2 3 4 5 6 7 8 9 x

40
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b


b = 240 – 15x
	c.
	[image: image80.emf]Athletic Club Account
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b = 225 – 15x

	b.
	[image: image81.emf]Athletic Club Account
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b = 225 + 15x
	d.
	[image: image82.emf]Athletic Club Account
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b = 240 + 15x


Write an equation in point-slope form for the line through the given point with the given slope.
____
20.
(8, 3); m = 6

	a.
	[image: image83.png]



	c.
	[image: image84.png]




	b.
	[image: image85.png]y—3=16(x-8)



 
	d.
	[image: image86.png]y+3

X+ 8






Graph the equation.
____
21.
y – 4 = [image: image87.emf]5

(x + 1)

	a.
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	c.
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	b.
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	d.
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____
22.
y – 1 = [image: image92.emf]4

5

(x + 1)

	a.
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	c.
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	b.
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	d.
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What is an equation of the line?
____
23.
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	a.
	y + 3 = (x + 4)
	c.
	y + 3 = [image: image98.emf]

(x – 4)

	b.
	y – 3 = 2(x – 4)
	d.
	y + 5 = 2(x + 4)


____
24.
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	a.
	y – 4 = [image: image100.emf]3

(x + 2)
	c.
	y – 2 = [image: image101.emf]2

(x + 4)

	b.
	y – 4 = [image: image102.emf]

1

3

 (x + 2)
	d.
	y – 5 = [image: image103.emf]3

(x + 2)


____
25.
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	a.
	y + 1 = –0.4(x + 5)
	c.
	y + 4 = 2.5(x + 5)

	b.
	y + 4 = –2.5(x + 5)
	d.
	y + 1 = –0.4(x – 3)


____
26.
The table shows the height of a plant as it grows. What equation in point-slope form gives the plant’s height at any time?  Let y stand for the height of the plant in cm and let x stand for the time in months.

	Time (months)
	Plant Height (cm)

	3
	15

	5
	25

	7
	35

	9
	45


	a.
	y – 15 = [image: image105.emf]5

2

(x – 3)
	c.
	y – 3 = [image: image106.emf]5

2

(x – 15)

	b.
	y – 15 = 5(x – 3)
	d.
	The relationship cannot be modeled.


____
27.
The table shows the height of an elevator above ground level after a certain amount of time. Model the data with an equation. Let y stand for the height of the elevator in feet and let x stand for the time in seconds.

	Time (s)
	Height (ft)

	10
	202

	20
	184

	40
	148

	60
	112


	a.
	[image: image107.png]—-1.8+202





	c.
	[image: image108.png]220x-1.38






	b.
	[image: image109.png]—1.8x+220





	d.
	[image: image110.png]10x+ 202







____
28.
The table shows the height above the ground of a helicopter taking off from the top of a building. What equation in point-slope form gives the helicopter’s height at any time?  Let y stand for the height of the helicopter in m and let x stand for the time in seconds.

	Time (s)
	Height (m)

	3
	24

	5
	40

	7
	56

	9
	72


	a.
	y – 24 = 8(x –3)
	c.
	y – 24 = [image: image111.emf]4

(x –3)

	b.
	 y – 3 = [image: image112.emf]4

(x –24)
	d.
	The relationship cannot be modeled.


What is the graph of the equation?
____
29.
y = –2

	a.
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	c.
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	b.
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	d.
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____
30.
x = 1

	a.
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	c.
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	b.
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	d.
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